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a) % K202 K ML B S — K KN R IR BT A B

b) 7 IRAARE T LA A BRAR R E BLA 290 1K A5
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d) =AM E S A BT,

e) B3 i Ao & 45 & 1
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9)$i(i = 1,2,3) N E3 LARESRI AR, gy s WiEh:, ¢ P, My o ¢y o pg— i R IF R R
h)RIAA B RN AR, RIS NIRAZ e, A (u, v) = (P(u), ¢(v)) RAL;
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. a)RMPI(0, 1, 2), Ps(1,3,0), P5(0, —4,4), Pa(3, —3, 2) Kty PU i s A,

b)KilE : #iu X v+ 20v X w — 21w X u = 0, Wu, v, wHk.

=. B4 =(1,2,3),v=(0,1,2),w = (~1,0,1), 5 :

a)u + v — w;

b)(u, v) Flv x w;

¢) = uvw Lhu i T0 S ) A I A 5L M.

MU, a)Kif : u X (v X w) = (u,w) - v — (u,v) - w;

b)RiE @ (v1 X va,v3 X v4) = (v1,v3) - (Va,v4) — (v1,v4) - (Vg,v3).
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a)id(3,-1,4),(1,0,—3) HEE TV : 22 + by + 2z = O FIi;

b)id (3, —1,4) HEE TP : 2z + 5y + 2z = O HZ.

Ny BATE NAEES FIIRAZ Hegisi 2 : d(z, v, 2) = (2,9, 2) - A+ b, Hrh AARIES5RE, bR E;
a)iE# : 5Vn € N, ¢y, (2,9, 2) = (z,y, 2) - A™ + nb¥ARIAA R, ok AR Rmn A AR, nbFmn b N;
b) Il gy e H5ET @7, et " Romn A G R &, FF UL HE ih;

c)KiFy(z, y, 2) = (2,9, 2) - AT + bIRNRIESH:, Hh ATRRAMEE.

H AT SRR R 2% = 2% + y? — 2021,

a) FIWT S AT 4 SR — Uk T 5

b)RFTA AT Tkl HL 5 SHHSSTE B — X AR 38 L1 T 7 .
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